L35 Revin.

Find the point P on the graph of the function yy = \/5 closest to the point
(8,0)

The @ coordinate of P is:
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4.8 #2

Apply Newton's method to p(z) = x? — Tx — 10 with initial guess
o = 11 to calculate three successive improved guesses for a solution of

p(z) =0.
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4.9 #9

Evaluate this indefinite integral.

/%sin(a:) — ;cof(z) dz =
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We want to find the area of a region S which lies below the graph of f(2) = 8z + 9
and above the interval [a, b] = [4, 6] on the z-axis. Thus

S={(z,y):4<x<60<y<8z+9}.

To do this we begin by dividing the interval [4, 6] into N equal subintervals using the
pointSCEO:4,321,132,...,333\?:6. 1/V

The length of each sub-interval [mk_l, .'B;\,] is

Find a formula for the kth division point in terms of k and IV,

L = 22 help (formulas)
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= Q2 +[¢ ] = 93.
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5.1 #12 pt2

Find an expression of the sum of the areas Ay,

N
SN = ZAJ”
k=1
Sy =

It will be helpful to use the formulas for the sums of powers of integers from the
textbook.

Take the limit as IV tend_s _’:(_3_ E__n_fi_ni_ty t_f_)___ﬁ_ﬁ_d_the areaof S.
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